Http://www.china-easun.com

ESU KBS HE

n BEHKA

ESU — 50 x50 — S — LB
T T
[k Bk BT R ER
SRR
BS TR =A: FEMR Bl ERs
WIEFAE =A: BRE
LBRIFEER
FARTEZR
FBUEE 2R
CA:JF 35 B E SR
CB:/& 5 B & Wi A
=
nFs
— 1%l U’
A

n EAEH

o rEaER

& RAE MR, EEETLEMRDE.

& SHE LTI RGN, ERERENFRIAE,

S SHAIRAWSREHME, EREAEISOCHSEELHTERTE (RAREAXETE) .

& TR E MM HE LR,

S SEUEE F T NRR—PRARSG, TUMEREESEA LM RBENSERNENTE,

ESU — 50 x 50 — S — LB
T T
Inner Inductive
Diameter Magnetic Ring )
Model Stroke S:With magnetic ring Mounting Type
Double Acting Blank:Without magnetic ring Blank:Basic

LB:Front and Rear Fixation
FA:Front Flange
FB:Rear Flange

CA:Rear Male Clevis
CB:Rear Clevis

moEp

ARITME 2 A50mm, 7R AH50mm, WHIA, KACAEE R R MKFELR
AMERRE, HERMITHIBARSA: ESU-50x50-S - CA

#I12/ Inner Diameter (mm) 32 40 50 63 80 100 125

FIERI R/ Action X {E A2/ Double Acting

TAEH B/ Fluid ZF B ELHEZ S/ The constrirgent after filtered

E £ & R /Fixing Type HA&H/Basic FA FB CA CB LB

1 A £ 715E B/ Range of Working Pressure MPa 0.05~0.9

ARIET E 71/ Proof Press MPa 1.35

{E AR ESEE / Operating Temp T -5~70

&A% ESEE / Piston Speed mm/s 30~800

Z& I/ Cushion AT % %/ Regulabe Cushion

28 1778/ Cushion Stroke mm 20 26 25 35

HERY/ Port Thread G1/8 G1/4 G3/8 G1/2

n KEL{TRE
% (mm = gm0 [

Iﬁrfr::;r(Diarzeter bt SECETE el o :A:L:;gttike I?elr#r:ir:silble Stroke
32 25 50 75 80 100 125 150 160 175 200 225 250 300 350 400 450 500 1000 2000
40 25 50 75 80 100 125 150 160 175 200 225 250 300 350 400 450 500 600 700 800 1000 2000
50 25 50 75 80 100 125 150 160 175 200 225 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80 100 125 150 160 175 200 225 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
80 25 50 75 80 100 125 150 160 175 200 225 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
100 25 50 75 80 100 125 150 160 175 200 225 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100 125 150 160 175 200 225 250 300 350 400 450 500 600 700 800 900 1000 1500 2000

HERITRESAAAKR



S ERERT

ESU
©32~0125
A+f7#2/Stroke
B C+f772/Stroke s
E F G G o7
H N N I
| 2.0 —
J 777777777777777777777 -
SIS I I N v, Y I N I R I CEANS
Qs ‘—]n:[ n:r
— an o
NA] W
Q| [N\2-ZhigsT Q
2-Cushion Screws
ow f---———— F
8-L &M /Depth M
#s
#2 ~_Code A B © D E F G H | J K
Inner Dia.
32 140 47 93 28 32 15 28 22 17 6 M10x1.25
40 142 49 93 32 34 15 28 24 19 7 M12x1.25
50 150 57 93 38 42 15 28 32 22 8 M16x 1.5
63 153 57 96 38 42 15 28 32 22 8 M16x 1.5
80 183 75 108 47 54 21 33 40 30 10 M20x 1.5
100 188 75 113 47 54 21 33 40 30 10 M20x 1.5
125 234 98 136 60 73 25 40 54 38 12 M27 x 2
#S
sr4z2 . Code L M N o P Q R S T % w
Inner Dia.
32 M6 x 1 14.5 14 G1/8 5 6.5 6.5 46 33 12 10
40 M6 x 1 14.5 14 G1/4 6 6 8.5 51 37 16 14
50 M6 x 1 14.5 14 G1/4 7 5 9 62 47 20 17
63 M8x 1.25 14.5 14 G3/8 7 5 10 75 56 20 17
80 M10x1.5 16.5 16.5 G3/8 7 5.5 11 94 70 25 22
100 M10x1.5 16.5 16.5 G1/2 7 9 11 112 84 25 22
125 M12x1.75 16 20 G1/2 - - 12 140 110 32 27




N ESUZLH#IE

1 2 20
.

F S 1 2 3 4 5 6 7 8 9

2 EEM EEIRE B e £ B 2T IR SE EIF- AT IRSTOR E I E AATIRET

oo RN RB NBR R RSN SaWH HESE NBR REFEN R

F 5 10 11 12 13 14 15 16 17 18 19 20

& R B R =OR B ZimE B2 I HEFORE | HEEHE IR EE X AR K75 f B 4T BE

7 NBR NBR B W HEE NBR BR 73] BE S&aHE kN BESE
No. 1 2 3 4 5 6 7 8 9
Description Piston Rod Piston Rod Nut Dustproof Seal Ring Pull Rod Nut Guide Sleeve Front Cover Adjustable Screw O-ring | Retaining Ring | Adjustable Screw
Material Medium Carbon Steel Mild Steel NBR Mild Steel Composite Material | Aluminum Alloy NBR Stanless Steel Copper
No. 10 11 12 13 14 15 16 17 18 19 20
Description |Front&RearCover O-fing | Buffer Ring Screw Cylinder Piston Rod O-ring | Combined Seal Ring | Magnetic Ring Piston SupportRing | Allen Screw Rear Cover
Material NBR NBR Medium Carbon Steell Aluminum Alloy NBR NBR Plastic Aluminum Alloy | Composite Material | Medium Carbon Steel | Aluminum Alloy




